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1 dull yyleil b i)

Simplify (3x%)2(2x%). (3x%)%(2x*) biv .

- ) (2x*)
(= 18x* ) o)

v 12x%
¢ 18x° o)

d. 2x4 o



1 il panpll 5o diliie GUS o

Write the inequality using interval (BARY ey aladiuly dnlial) s
notation. )ll .
(_w)___\_5] u [l.G,oa)
- 00~ et oo
-2 -1 0 1 72

2 (~%,-1.5) U (1.5,) 0]
b (—o0,—1.5] U [1.5,00) @)
¢ [-1.5,1.5] @)

¢ (-1.5,1.5) O



1 il pawpll JU5 o psill Jaso

o
Determine the rate of change of the ribd) Jhaall janll Jae saa
graph. 1:56
L e fy
» = 40
PPPRY) f L ,“ 5)
' 30|
\V
) o A
2 r ‘91 Q 0 & )
\Sr VIR 4
PPV - =
0 2 4 6 8 x
O LA
-k,
6 _ 35-25 O
-3
-5

"

D -
o



1 dubsdl dslaol duwlly 486Vl Olablayl o

Find the coordinates of the aalily x ) gaall o palisl) sagl .
x - and y—intercepts of the Aslaall ) Jiath) By ) saad) e
.%y - %x =12

graph for the equation

3 2
Zy—;x =12.

;\c—12y—3 o
| o4 = - Zx =0
b x=18,y=-16 % = \X ;((-.-_.) o
Cax- -8\
C x=—E,y:12 O



1 Olpsie SHMY dbs OMlseS plbj J> (i)

Determine the solution of the system of ] fedagall cialaal) Al Ja aaa
. —y+z=0 4:56
equations shown below. X—yrtz=

x—y+z=0 —5x+3y—-2z=-1

\ ; 5 : = 2x—y+4z=11
PN Y6 4 (2,5,3) Al —5x+3y—2z=-1
g (253 A 2x—yrdaz=11

oo sy (’l)-Cr))-\r(;)'-" v o

a.
There is no solution.

Jstall G Y 2 Gl “5(2) -+ 3( 53 -2C y) ) = =I d
> There are infinitely many solutions. O
2 (> (5 ) au(®)=
¢ (0,3,3) (@)
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Which expression below is equal to b (A Laa s L_gi
(30x* —11x +15)(5x — 6)71? ¢(30x% — 11x + 15)(5x — 6)*
S ]
@ 3ot — W x x>
» '6x(4)5 .= 2 O
) 5x+ 6 Sx-6
' 5 S
O
O
O




1 4y yuled dess Sl

Evaluate m — (3 — n)? if

n=—-1land m=12.

1
- (2 -( gj(_\ﬂ
- 2 - L 3 40
- (2 - \«1

—_—

- 12 — |6

(D

i ]

il m — (3 —n)? dad 2y
2:56

-.m=12 sn=-1

O
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Simplify the expression. i) Jala
—2(=5x+6y) —9(—2x+4y) —2(=5x+ 6y) — 9(—2x + 4y)

2:56

10 = - (29 +18x — 364

2 28x—48y o
28x — 1\2\3/

b —8x + 24y o

« —18x+ 48y @)

d 28x + 48y 0]
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Solve the equation

-2|5y — 1| = —10.

R

sy ~\ - 5
5\3—\ =5
$
5\8:5*‘
5\&:4
8- 5

2|5y — 1] = —10 e Ja
2:53

o
o
Syt -5 o
)
5‘3:_5“ @)
Y = -4
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y—Ex+
b - +1
y=-3%
5 37
CYT TN
2 37

Which of the following is the
equation of the line that passes

through (4,—-9) and (2,—4)7?

) -y = v (e — %)
SR

x—-"L)

R N
dak = =>4 5

O Ll asfisall Alslas (A (s Laa 6
9(2,—-4) s(4,-9)

—f’_‘-"k\_}lﬂ Hywo

@)
Ve o
s @)
A ) —‘al_\}s‘
WA =W
@)
- -9_ (-u)
H-2
. -5 @)



1 dilball dousdl A Sdog Jlo (i)

Identify the domain and range for .f(x) = —|x| + 1 4l gaally Jlaal) as
the funetion f(x) = —|x| + 1. g *~

2:57

qS

{(FOOIf(x) = 1} = sl {wl Sasdy) tmjl = Jlad
' Domain = {All real numbers}, Range = {f(x)|f(x) = 1} '

- > %
{FQOIf(x) = =1} = salls {x|x < 1} = Jad) / \
b. O

Domain = {x|x < 1}, Range = {f(x)|f(x) = —1}

13

(FOOIF(x) < 1 = (saally {Raiall 32091 g | = Jiaad

_ Domain = {All real numbers}, Range = {f(x)|f(x) < 1} L P °—‘~€$' DU BN E w,oﬁ,)
| U@IFG) = -1) = sy {2l o9 e = glaad ol =y (- @) o

Domain = {All real numbers}, Range = {f(x)|f(x) < —1}
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Write an equation for the graph LU Cpal) ALl Sl dslaa cas)
- 3:57

shown bhelow.

- - - : r
LU 555 ) c) e o e P OP 4 W)
TP\ N SN CTE ~5 6470

N
>

J;_,i) AR Ry

. y=—lx—4/+5 Shel bi o Sio o)
JD Y N e T e g
boy=|x—2/+4 x . O
Y s ST K4
@)

c y=|x+4-|—5 ¥




1 gupsties duhns OVslne plai Jo o

Determine the number of solutions for A i A KPP P g PAENEREN
b 2:56
the following system of two w=-3 ¥y :Q)f +5C
equations: wm=3 Y=Ex+5 @
“ y=-3x+5 G )
y= 3x+5 G @ KA = W\t
v //
T )y Ja
A exactly one solution \/\/ 5 o
d \,,, Mor A.O); JP g_YP"Q/
Jelal) fra AlgY s AN
b. i [ M-l . \ X \ﬂ) \_)w )
infinitely many solutions \(/)\n’ ’Jw U,ik_,a_a O_EL— \\;‘\‘(/" O
¢ X )

no solution

ato (Ifu(.(\.o\lq/ (Y Jn}\_,..z, U"-;‘

agd ol
O Bl >( LA, 3 Do &= 0]

exactly two solutions
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Determine the ordered pair that is Alaill Jolat) anf e @Y el meh s

3:56

one of the solutions of the system Yy<5-3xs5y>2x+7
y>2x+7andy <5-3x.

- (-1,2) % @)

¢ (—1,10) @)
(6) = 5-3(-2) (¢) > 22 ~F

d. (6,-2) JJ v/ (@)
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@.K ‘3! 2:57

IfA:[_lg _25] ande[g _43]' 0 -3 1 2
find 2B — A. ‘B=[2 4]’A=[—3 —5]
. 2B — A
2 [O —3& B (\ 11
- 2 4 -3 =
Q o
7 13 ~ o -t \ -
. ) Le El_ {‘3 _SX
o | ;
_ -\ -
- [ 7
1 —1] o)
-1 -1
—28 —14] °
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Find the product [9 —2]. [_62 4 ] [0 -=2]. [_2 _47] eyl gl gl =

-7 6
if possible. OSal ¢
\x@— A 2
Y 4
Ag - 9 ) [ . -t >

SFah: :

] - j:,\@ t (—22) 3b+ U 1

—30
b. i 50 - —_30 503 O
C (Saa e o

" not possible

o

[-30 50] o)
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State the number of real zeros of ) Jdaal) ANl dgdal) eyl e SN,
the function with the graph shown. c.nAJA.“
ty

0
°N
——
—8 |—4 ‘4 8 x
—2
| \
—40
A




1 4l i) Jaalll yusidl (i)

Which algebraic expression Bl et Jigif)aﬂl alagll Lfi

2:57
represents the verbal expression g "@eﬂ i’

“the product of 4 and the

difference of a number and 13”7

s (b)) (%10 o

4in
13

d 4n-—-13 @)
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Which number line shows the solution Alid) Ja cpw Sy daghs fa (éi

1:52
of the inequality 2n — 3 > 5n — 67 2n—3>=5n-6

2nw - 3% > Sa-6

R . S1he 3 Swewa o

—6-5-4-3-2-1 0123 456

3 7 3w

e e 2 2w o

—6—-5-4-3-2-1 012 3 456

V2 h
e o

. —6-5-4-3-2-1 012345




1 @)l Saeg Jlxo o

State the domain and range of the Bl gaag Jlaa S s
relation.
\yL I
\ (
(-2, 3) 1,5)
e
L 2
(1,2)
| X
== re) )
(40t
{—2,1,4} :s2alls {—1,2,3,5} :Jlaal) o
" Domain: {—1,2,3,5}, Range: {—2,1,4} x Q\k,§\:’ LL’ 20 ( U \S

{_2! 1! 4} :(5""11’ {_2, 1, 4} :d\é.q.“

b 4 Az v, 5,2, 2] o)

Domain: {-2, 1, 4}, Range: {—2,1,4}

{—1,3,5} :ally {(—2, 1,4} :Jlaal)
" Domain: {-2, 1, 4}, Range: {—1,3,5}

{—1,2,3,5} iy {—2,1, 4} 1
Domain: {-2, 1, 4}, Range: {—1,2,3,5}




